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Mixture Model ( Gradient Method)

RA )=ax WA )+bx V(A ) cx SQA) 1
100=a+b+c

RA )=ax WA ) + (100 a)x Oth(A ) 2
a=RA)/WRA) (100 ax Othh) WQA) 3
[WQA 1) WQ 2)| >> |Oth(A 1) Oth(A 2) |

|Oth(A 1) OthA 2)| / |[WQA 1) WA 2)| 0 4
a |RAL) RA2|/NWAIL WA 2), 5
|Oth(A 1) o x Oth(A 2) |/|WA 1) o x WQA 2)| 6
D(a ) =

T (Oth(A 1) o x OthA 2)[/|WA 1) o x WQ 2) )2 (7)

o WI MOD35

White Index W1

| EHEBB)-15<H|

Al A2 a D)
B3 |B4-Bl1| 22 107 (-7.8)
B3+B4+B1  B7 15 26 (4.5)
B3+B4+B1  B6 13 82 (8.6)
4.5%
MOD35 wi
WI=(R(B1) R(B3) R(B4) 15x R(B7)) 210x 100 8 wi
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